
If the pink gorilla eats watermelon every night, how much watermelons does he eat?             © One Stop Teacher Shop 

          
z 
TJ
0.0 02 Tw [(s)-8.1 (h)-12.2 (e )]TJ
0.0 0 1 Tw 0 -1.157 TD
[(no)-12.3 (w)9.2 ( h)-12.3 (av)-8 (e?)]TJ
0 Tc 0 Tw 4.855 0 Td
( )Tj
ET
EMC 
/P <</MCID 20 >>BDC 
q
444. 12 645.36 136. 0 8 70. 6 8 re
W n
BT
-0.002 Tc 0.001 Tw 9.96 -0 0 9.96 449 .28 706. 6 8 Tm
[(I)-1.1 (t)-1.1 ( t)-1.1 (ook)-20 ( G)-7.2 (r)-6.3 (ac)-8 (e 3 m)-24.4 (i)3.1 (nut)-1.1 (es)-8 ( t)-1.1 (o )]TJ
ET
Q
BT
-0.002 Tc 0.001 Tw 9.96 -0 0 9.96 449 .28 695.16 Tm
[(br)-6.4 (us)-8 (h her)-6.3 ( t)-13.2 (eet)-13.1 (h,)-1.1 ( 5 m)-24.4 (i)3.1 (nut)-13.2 (es)-8 ( )]TJ
0 -1.145 TD
[(t)-1.1 (o ge)-12.3 (t)-1.1 ( )]TJ
0.0 02 Tw [(dr)-6.4 (es)-8 (s)-8 (ed)]TJ
0.0 0 1 Tw [(,)-1.1 ( )-12.1 (an)-12.3 (d 8 )]TJ
0 -1.157 TD
[(m)-24.4 (i)3.1 (nut)-1.1 (es)-8.1 ( t)-1.1 (o eat)-13.2 ( br)-6.3 (eak)-20 (f)-13.2 (as)-8 (t)-1.1 (.)]TJ
0 Tc 0 Tw 11 0 Td
( )Tj
0.277 0 Td
( )Tj
-0.002 Tc 0.001 Tw -11.277 -1.157 Td
[(H)-2.9 (o)-12.3 (w)9.2 ( l)-8.9 (ong)-12.3 ( di)-8.9 (d i)-9 (t)-1.1 ( t)-1.1 (ak)-20.1 (e G)-7.1 (r)-6.4 (ac)-8 (e )]TJ
ET
q
444. 12 645.36 136. 0 8 70. 6 8 re
W n
BT
9.96 -0 0 9.96 449 .28 649.2 Tm
[(t)-1.1 (o ge)-12.3 (t)-1.1 ( r)-6.4 (ead)-24.3 (y)16. 1 (?) ]TJ
ET
Q
q
444. 12 645.36 136. 0 8 70. 6 8 re
W n
BT
0 Tc 0 Tw 9.96 -0 0 9.96 507.6 649.2 Tm
( )Tj
ET
EMC 
/Artifact <</MCID 21 >>BDC 
Q
28.8 716. 0 4 3 3 re
f*
31. 8 716 . 0 4 136 . 0 8 3 re
f*
167 . 8 8 716 . 0 4 3 3 re
f*
170 . 8 8 716 . 0 4 134 . 8 8 3 re
f*
305.76 716. 0 4 3 3 re
f*
308 . 7 6 716 . 0 4 134 . 8 8 3 re
f*
443 . 6 4 716 . 0 4 3 3 re
f*
446 . 6 4 716 . 0 4 133 .56 3 re
f*
580.2 716. 0 4 3 3 re
f*
28.8 645.36 3 70.6 8 re
f*
167 . 8 8 645.36 0.48 1 70. 6 8 re
f
305.76 645.36 0.48 1 70. 6 8 re
f
443. 6 4 645.36 0.48 1 70. 6 8 re
f
580.2 645.36 3 70.6 8 re
f*
EMC 
/P <</MCID 23 >>BDC 
q
31.8 539.64 136 . 0 8 105.24 re
W n
BT
-0.00 1 Tc 0.005 Tw 14.04 -0 0 14.0 4 38. 8 8 631 . 8 Tm
[(H)3 (ow)11.6 ( m)2.9 (an)-9.1 (y)11. 8 ( t)-5 (e)-0.6 (n)-0.6 (s)3.3 ( a)-0.6 (r)-1.3 (e)7.9 ( )]TJ
ET
Q
BT
-0.00 1 Tc 0.005 Tw 14.04 -0 0 14.0 4 58.32 615.72 Tm
[(t)-5.1 (he)-0.6 (r)-1.3 (e)8 ( i)-1.2 (n)-0.6 ( )]TJ
0.0 0 1 Tw 3.607 0 Td
[(7)-0.6 (70) ]TJ
0 Tc 0 Tw 1.667 0 Td
(?)Tj
0.547 0 Td
( )Tj
ET
EMC 
BT
/P <</MCID 25 >>BDC 
9.9 6 -0 0 9.96 99. 12 603. 3 6 Tm
( )Tj
EMC 
ET
/P <</MCID 27 >>BDC 
q
168. 3 6 539.64 137 . 3 9 9 105.24 re
W n
BT
-0.015 Tc 0.015 Tw 9 -0 0 9 176. 0 4 636 . 4 8 Tm
[(D)-13 (r)-15.3 (a)-19 (w )]TJ
ET
Q
q
168. 3 6 539.64 137 . 3 9 9 105.24 re
W n
BT
0.00 4 Tc -0.004 Tw 9 -0 0 9 199. 4 4 636 . 4 8 Tm
(281)Tj
ET
Q
q
168. 3 6 539.64 137 . 3 9 9 105.24 re
W n
BT
9 -0 0 9 214.56 636. 4 8 Tm
( )Tj
ET
Q
q
168. 3 6 539.64 137 . 3 9 9 105.24 re
W n
BT
0.00 4 Tc -0.015 Tw 9 -0 0 9 217.08 636 . 4 8 Tm
[(w)19.3 (i)-0.6 (t)2 (h )-13 (bas)-2.7 (e t)2 (en bl)-0.6 (o)13. 3 (c)-2.7 (k)10.7 (s)10. 7 ( )]TJ
ET
Q
BT
0.00 4 Tc -0.002 Tw 9 -0 0 9 189. 4 8 626.16 Tm
[(i)-0.7 (n t)2 (h)13.4 (e pl)12.6 (ac)-2.7 (e)13.4 ( v)10.6 (al)-0.6 (ue )13.3 (c)-2.7 (har)17 (t)2 (.)]TJ
0 Tc 0 Tw 10.56 0 Td
( )Tj
ET
EMC 
BT
/P <</MCID 28 >>BDC 
9.9 6 -0 0 9.96 237 614. 8 8 Tm
( )Tj
EMC 
ET
/P <</MCID 29 >>BDC 
q
168. 3 6 539.64 137 . 3 9 9 105.24 re
W n
BT
9.96 -0 0 9.96 237 536.16 Tm
( )Tj
ET
EMC 
/P <</MCID 30 >>BDC 
Q
q
168. 3 6 539.64 137 . 3 9 9 105.24 re
W n
BT
9.96 -0 0 9.96 237 524.64 Tm
( )Tj
ET
EMC 
/P <</MCID 32 >>BDC 
Q
q
172.32 595.92 45 9.121 re
W n
BT
-0.00 4 Tc 0.004 Tw 8.04 -0 0 8.04 177 . 4 8 597.6 Tm
[(H)1.6 (undr)0.6 (eds)]TJ
ET
Q
q
172.32 595.92 45 9.121 re
W n
BT
8.04 -0 0 8.04 212.16 597.6 Tm
( )Tj
ET
EMC 
/P <</MCID 35 >>BDC 
Q
q
217.8 595.92 41.76 9.121 re
W n
BT
-0.00 4 Tc 0.004 Tw 8.04 -0 0 8.04 229.8 597.6 Tm
[(T)-4.9 (ens)]TJ
ET
Q
q
217.8 595.92 41.76 9.121 re
W n
BT
8.04 -0 0 8.04 247.56 597.6 Tm
( )Tj
ET
EMC 
/P <</MCID 38 >>BDC 
Q
q
260.04 595.92 41.76 9.121 re
W n
BT
-0.00 4 Tc 0.004 Tw 8.04 -0 0 8.04 271.44 597.6 Tm
[(O)-2.1 (nes)]TJ
ET
Q
q
260.04 595.92 41.76 9.121 re
W n
BT
8.04 -0 0 8.04 290.52 597.6 Tm
( )Tj
ET
EMC 
/Artifact <</MCID 40 >>BDC 
Q
171. 8 4 605.16 0.48 1 0.4 8 re
f
171. 8 4 605.16 0.48 1 0.4 8 re
f
172.32 605.16 45 0.48 re
f
217.32 605.16 0.48 0.4 8 re
f
217.8 605.16 41.7 6 0.4 8 re
f
259.56 605.16 0.48 0.4 8 re
f
260.04 605.16 41.7 6 0.4 8 re
f
301. 8 605.16 0.48 1 0.4 8 re
f
301. 8 605.16 0.48 1 0.4 8 re
f
171. 8 4 595.92 0.481 9.24 re
f
217.32 595.92 0.48 9.24 re
f
259.56 595.92 0.48 9.24 re
f
301. 8 595.92 0.481 9.24 re
f
EMC 
/P <</MCID 42 >>BDC 
q
172.32 546 45 49.44 re
W n
BT
3 -0 0 3 194. 7 6 592.56 Tm
( )Tj
ET
EMC 
Q
BT
/P <</MCID 44 >>BDC 
9.9 6 -0 0 9.96 194 . 7 6 582.6 Tm
( )Tj
EMC 
/P <</MCID 46 >>BDC 
0 -1.157 TD
( )Tj
EMC 
/P <</MCID 48 >>BDC 
0 -1.157 TD
( )Tj
EMC 
ET
/P <</MCID 50 >>BDC 
q
172.32 546 45 49.44 re
W n
BT
9.96 -0 0 9.96 194 . 7 6 548.16 Tm
( )Tj
ET
EMC 
/P <</MCID 52 >>BDC 
Q
q
217.8 546 41.7 6 49. 4 4 re
W n
BT
9.96 -0 0 9.96 222.96 586.08 Tm
( )Tj
ET
EMC 
/P <</MCID 53 >>BDC 
Q
q
260.04 546 41.7 6 49. 4 4 re
W n
BT
9.96 -0 0 9.96 280.92 586.08 Tm
( )Tj
ET
EMC 
/Artifact <</MCID 54 >>BDC 
Q
171. 8 4 595.44 0.48 1 0.4 8 re
f
172.32 595.44 45 0.48 re
f
217.32 595.44 0.48 0.4 8 re
f
217.8 595.44 41.7 6 0.4 8 re
f
259.56 595.44 0.48 0.4 8 re
f
260.04 595.44 41.7 6 0.4 8 re
f
301. 8 595.44 0.48 1 0.4 8 re
f
171. 8 4 545.88 0.48 1 49.56 re
f
171. 8 4 545.4 0.48 1 0.4 8 re
f
171. 8 4 545.4 0.48 1 0.4 8 re
f
172.32 545.4 45 0.48 re
f
217.32 545.88 0.48 49.56 re
f
217.32 545.4 0.48 0.4 8 re
f
217.8 545.4 41.7 6 0.4 8 re
f
259.56 545.88 0.48 49.56 re
f
259.56 545.4 0.48 0.4 8 re
f
260.04 545.4 41.7 6 0.4 8 re
f
301. 8 545.88 0.48 1 49.56 re
f
301. 8 545.4 0.48 1 0.4 8 re
f
301. 8 545.4 0.48 1 0.4 8 re
f
EMC 
/P <</MCID 55 >>BDC  

q
306 .24 539.64 137 . 3 9 9 105.24 re
W n
BT
-0.002 Tc 0.001 Tw 9.96 -0 0 9.96 335.16 635.52 Tm
[(W)-33.9 (r)5.7 (i)3.1 (t)-1.1 (e t)-1.1 (he num)-24.4 (ber)-6.4 (.)]TJ
ET
Q
q
306.24 539.64 137 . 3 9 9 105.24 re
W n
BT
9.96 -0 0 9.96 414 . 6 635.52 Tm
( )Tj
ET
EMC 
Q
BT
/P <</MCID 56 >>BDC 
14. 0 4 -0 0 14.0 4 374 . 8 8 620.28 Tm
( )Tj
EMC 
/P <</MCID 57 >>BDC 
0 -1.145 TD
( )Tj
EMC 
/P <</MCID 58 >>BDC 
12 -0 0 12 311.4 589.92 Tm
(8)Tj
0.56 0 Td
( )Tj
0.0 0 4 Tc -0.004 Tw 0.28 0 Td
[(on)10 (es)]TJ
0 Tc 0 Tw 2.16 0 Td
( )Tj
EMC 
/P <</MCID 59 >>BDC 
-3 -1.72 Td
(1)Tj
0.56 0 Td
(4)Tj
0.0 02 Tw 0.56 0 Td
(  )Tj
0.0 0 4 Tc -0.004 Tw [(t)12 (ens)]TJ
0 Tc 0 Tw 2.44 0 Td
( )Tj
EMC 
/P <</MCID 60 >>BDC 
-3.56 -1.73 Td
(1)Tj
0.0 02 Tw 0.56 0 Td
(  )Tj
0.0 0 4 Tc -0.004 Tw [(h)10 (undr)7 (e)10 (ds)]TJ
0 Tc 0 Tw 4.72 0 Td
( )Tj
EMC 
ET
/P <</MCID 61 >>BDC 
q
306.24 539.64 137 . 3 9 9 105.24 re
W n
BT
12 -0 0 12 374.8 8 527.88 Tm
( )Tj
ET
EMC 
/P <</MCID 62 >>BDC 
Q
q
444. 12 539.64 136 . 0 8 105.24 re
W n
BT
-0.005 Tc 0.004 Tw 9.96 -0 0 9.96 478 . 0 8 635.52 Tm
[(F)-8.5 (ill)-11.9 ( in)-15.3 ( t)-4.1 (h)-3.2 (e)-15.3 ( b)-15.3 (la)-3.2 (n)-3.2 (k)-23.1 (.)]TJ
ET
Q
q
444. 12 539.64 136 . 0 8 105.24 re
W n
BT
9.96 -0 0 9.96 547.56 635.52 Tm
( )Tj
ET
EMC 
Q
BT
/P <</MCID 63 >>BDC 
9.9 6 -0 0 9.96 512.76 624 Tm
( )Tj
EMC 
/P <</MCID 64 >>BDC 
0 -1.145 TD
( )Tj
EMC 
/P <</MCID 65 >>BDC 
-0.00 1 Tc 0.001 Tw 14.04 -0 0 14.0 4 471. 12 597.36 Tm
[(8)-0.6 (2)]TJ
0 Tc 0 Tw ( )Tj
-0.00 9 Tc 0.009 Tw 1.393 0 Td
[(t)-13.1 (en)-8.5 (s)]TJ
0 Tc 0 Tw 1.88 0 Td
( )Tj
0.0 0 4 Tc -0.008 Tw 0.282 0 Td
[(i)12.3 (s th)4.4 (e)13 ( )]TJ
0 Tc 0 Tw 2.65 0 Td
( )Tj
-0.00 1 Tc 0.005 Tw -6.786 -1.154 Td
[(s)-5.3 (am)2.9 (e)-0.6 ( a)8 (s)3.2 ( _)-0.6 (_)-0.6 (__)-0.6 (_)]TJ
0 Tc 0 Tw 6.821 0 Td
(.)Tj
0.274 0 Td
( )Tj
EMC 
ET
/Artifact <</MCID 66 >>BDC 
28.8 644. 8 8 3 0.48 1 re
f
31.8 644. 8 8 136 . 0 8 0.4 8 1 re
f
167. 8 8 644 . 8 8 
28.8 644. 8 45i.8 644. 8 4 9.9 6 47h (__)-0.6 (_)]TJ
0 Tc 0 Tw 630

 [ ( C )-2.9 (om)-24.4 (par)-6.4 (e t)-1.1 (he n)-12.2 (um)-24.5 (ber)-6.4 (s)-8 ( us)-8 (i)3.1 (ng )]TJ
ET
Q
BT
/TT1 1 Tf
-0.002 Tw 14.04 -0 0 14.0 4 79.8 396. 4 8 Tm
(>  <)Tj
/TT5 1 Tf
0.00 4 Tw (  )Tj
0 Tw (=)Tj
2.761 0 Td
( )Tj
ET
EMC 
BT
/P <</MCID 104 >>BDC 
14. 0 4 -0 0 14.0 4 99.12 380.4 Tm
( )Tj
EMC 
/P <</MCID 106 >>BDC 
-0.00 4 Tw -4.521 -1.154 Td
[( )-8.1 ( )0.5 ( )]TJ
-0.00 1 Tc 0.001 Tw 0.838 0 Td
[(9)-0.6 (99) ]TJ
0 Tc 0 Tw 1.658 0 Td
( )Tj
-0.00 4 Tw 0.282 0 Td
[( )0.5 ( )-8.1 ( )0.5 ( )0.5 ( )-8 ( )0.5 ( )]TJ
1.9 4 0 Td
[( )0.5 ( )0.5 ( )-8.1 ( )]TJ
0 Tw 1.103 0 Td
( )Tj
0.282 0 Td
( )Tj
-0.00 9 Tc 0.009 Tw 0.282 0 Td
[(7)-8.5 (77)]TJ
0 Tc 0 Tw ( )Tj
EMC 
ET
/P <</MCID 108 >>BDC 
q
168. 3 6 346 . 4 4 137 . 3 9 9 74. 6 4 1 re
W n
BT
-0.002 Tc 0.001 Tw 9.96 -0 0 9.96 174 411. 72 Tm
[(C)-2.9 (om)-24.4 (par)-6.4 (e t)-1.1 (he n)-12.2 (um)-24.5 (ber)-6.4 (s)-8 ( us)-8 (i)3.1 (ng )]TJ
ET
Q
BT
/TT1 1 Tf
-0.002 Tw 14.04 -0 0 14.0 4 217.68 396. 4 8 Tm
(>  <)Tj
/TT5 1 Tf
0.00 4 Tw (  )Tj
0 Tw (=)Tj
2.761 0 Td
( )Tj
ET
EMC 
BT
/P <</MCID 109 >>BDC 
14. 0 4 -0 0 14.0 4 237 380. 4 Tm
( )Tj
EMC 
/P <</MCID 110 >>BDC 
-0.00 4 Tw -4.521 -1.154 Td
[( )-8.1 ( )0.5 ( )]TJ
-0.00 1 Tc 0.001 Tw 0.838 0 Td
[(9)-0.6 (11) ]TJ
0 Tc -0.004 Tw 1.658 0 Td
[( )-8.1 ( )0.6 ( )-8.1 ( )0.5 ( )]TJ
0 Tw 1.385 0 Td
( )Tj
-0.00 4 Tw 0.282 0 Td
[( )0.5 ( )-8.1 ( )0.5 ( )0.6 ( )-8.1 ( )0.5 ( )-8 (  )]TJ
0 Tw 2.496 0 Td
( )Tj
-0.00 1 Tc 0.001 Tw 0.274 0 Td
[(1)-0.6 (99) ]TJ
0 Tc 0 Tw 9.96 -0 0 9.96 294.12 364.2 Tm
( )Tj
EMC 
ET
/P <</MCID 111 >>BDC 
q
306.24 346. 4 4 137 . 3 9 9 74. 6 4 1 re
W n
BT
-0.002 Tc 0.001 Tw 9.96 -0 0 9.96 311. 8 8 411 . 72 Tm
[(C)-2.9 (om)-24.4 (par)-6.4 (e t)-1.1 (he n)-12.2 (um)-24.5 (ber)-6.4 (s)-8 ( us)-8 (i)3.1 (ng )]TJ
ET
Q
BT
/TT1 1 Tf
-0.002 Tw 14.04 -0 0 14.0 4 355.56 396. 4 8 Tm
(>  <)Tj
/TT5 1 Tf
0.00 4 Tw (  )Tj
0 Tw (=)Tj
2.761 0 Td
( )Tj
ET
EMC 
BT
/P <</MCID 112 >>BDC 
14. 0 4 -0 0 14.0 4 374. 8 8 380 . 4 Tm
( )Tj
EMC 
/P <</MCID 113 >>BDC 
-0.00 4 Tw -4.521 -1.154 Td
[( )-8.1 ( )0.5 ( )]TJ
-0.00 1 Tc 0.001 Tw 0.838 0 Td
[(3)-0.6 (06) ]TJ
0 Tc -0.004 Tw 1.658 0 Td
[( )-8.1 ( )0.6 ( )-8.1 ( )0.5 ( )0.5 ( )-8.1 ( )0.6 ( )-8.1 ( )0.5 ( )0.5 ( )-8.1 ( )0.6 ( )-8.1 ( )]TJ
-0.00 9 Tc 0.009 Tw 3.889 0 Td
[(3)-8.5 (60)]TJ
0 Tc 0 Tw 9.96 -0 0 9.96 424.2 364.2 Tm
( )Tj
EMC 
ET
/P <</MCID 114 >>BDC 
q
444. 12 346. 4 4 136 . 0 8 74. 6 4 1 re
W n
BT
-0.002 Tc 0.001 Tw 9.96 -0 0 9.96 449. 7 6 411 . 72 Tm
[(C)-2.9 (om)-24.4 (par)-6.4 (e t)-1.1 (he n)-12.2 (um)-24.5 (ber)-6.4 (s)-8 ( us)-8 (i)3.1 (ng )]TJ
ET
Q
BT
/TT1 1 Tf
-0.002 Tw 14.04 -0 0 14.0 4 493. 4 4 396 . 4 8 Tm
(>  <)Tj
/TT5 1 Tf
0.00 4 Tw (  )Tj
0 Tw (=)Tj
2.761 0 Td
( )Tj
ET
EMC 
BT
/P <</MCID 115 >>BDC 
9 -0 0 9 512.76 385.08 Tm
( )Tj
EMC 
/P <</MCID 116 >>BDC 
-0.00 4 Tw 14.04 -0 0 14.0 4 449.28 369. 9 6 Tm
[( )-8.1 ( )0.6 ( )]TJ
-0.00 1 Tc 0.001 Tw 0.838 0 Td
[(3)-0.6 (00) ]TJ
0 Tc 0 Tw 1.658 0 Td
( )Tj
0.282 0 Td
( )Tj
-0.00 4 Tw 0.274 0 Td
[( )-8.1 ( )0.5 ( )0.5 ( )-8 ( )0.5 ( )-8.1 ( )0.6 (  )-8 ( )0.5 ( )-8.1 ( )]TJ
0.0 0 4 Tc 12 -0 0 12 538.92 369.9 6 Tm
[(t)12 (hr)7 (ee)]TJ
0 Tc 0 Tw 14.04 -0 0 14.0 4 566.16 369. 9 6 Tm
( )Tj
EMC 
/P <</MCID 117 >>BDC 
-0.00 4 Tw -8.325 -1.017 Td
[( )-8.1 ( )0.6 ( )-8.1 ( )0.5 ( )0.5 ( )-8.1 ( )0.6 ( )-8.1 ( )0.5 ( )-8 (  )0.6 ( )-8.1 ( )0.5 ( )-8.1 ( )0.6 (  )-8 ( )0.5 ( )-8.1 ( )]TJ
0.0 0 4 Tc 12 -0 0 12 531 355.68 Tm
[(hun)10 (dr)7 (e)10 (d)]TJ
0 Tc 0 Tw ( )Tj
EMC 
ET
/Artifact <</MCID 118 >>BDC 
28.8 421.08 3 0.48 re
f
31.8 421.08 136. 0 8 0.4 8 re
f
167. 8 8 421.08 0.48 1 0.48 re
f
168. 3 6 421.08 137. 3 9 9 0.4 8 re
f
305.76 421.08 0.48 1 0.48 re
f
306.24 421.08 137. 3 9 9 0.4 8 re
f
443. 6 4 421.08 0.48 1 0.48 re
f
444. 12 421.08 136. 0 8 0.4 8 re
f
580.2 421.08 3 0.48 re
f
28.8 346. 4 4 3 74.6 4 re
f*
167 . 8 8 346 . 4 4 0.4 8 1 74. 6 4 1 re
f
305.76 346. 4 4 0.4 8 1 74. 6 4 1 re
f
443. 6 4 346 . 4 4 0.4 8 1 74. 6 4 1 re
f
580.2 346.4 4 3 74.6 4 re
f*
EMC 
/P <</MCID 120 >>BDC 
q
31.8 247.8 136. 0 8 98. 0 4 1 re
W n
BT
9.96 -0 0 9.96 99.12 336.6 Tm
( )Tj
ET
EMC 
/P <</MCID 122 >>BDC 
Q
q
31.8 247.8 136. 0 8 98. 0 4 1 re
W n
BT
8.04 -0 0 8.04 166. 4 4 259.44 Tm
( )Tj
ET
EMC 
/P <</MCID 124 >>BDC 
Q
q
168. 3 6 247.8 137. 3 9 9 98. 0 4 1 re
W n
BT
-0.002 Tc 0.002 Tw 9.96 -0 0 9.96 173.52 336.6 Tm
[(W)-33.9 (hi)15.2 (c)-8.1 (h )]TJ
ET
Q
q
168. 3 6 247.8 137. 3 9 9 98. 0 4 1 re
W n
BT
-0.002 Tc 0.013 Tw 9.96 -0 0 9.96 204.12 336.6 Tm
[(t)-13.2 (y)16.1 (pe of)-13.1 ( )]TJ
ET
Q
q
168. 3 6 247.8 137. 3 9 9 98. 0 4 1 re
W n
BT
-0.002 Tc 0.002 Tw 9.96 -0 0 9.96 236.88 336. 6 Tm
[(f)-13.2 (ood)]TJ
ET
Q
q
168. 3 6 247.8 137. 3 9 9 98. 0 4 1 re
W n
BT
9.96 -0 0 9.96 256.32 336.6 Tm
( )Tj
ET
Q
q
168. 3 6 247.8 137. 3 9 9 98. 0 4 1 re
W n
BT
-0.002 Tc 0.001 Tw 9.96 -0 0 9.96 259.08 336. 6 Tm
[(di)-8.9 (d t)-1.1 (h)-12.2 (e )]TJ
ET
Q
BT
-0.002 Tc 0.001 Tw 9.96 -0 0 9.96 173.52 325.08 Tm
[(m)-24.4 (o)11.8 (s)-8 (t)-1.1 ( peop)-12.2 (l)3.1 (e c)-8 (h)-12.3 (oos)-8.1 (e?)]TJ
0 Tc 0 Tw 9.542 0 Td
( )Tj
ET
EMC 
BT
/P <</MCID 125 >>BDC 
9.9 6 -0 0 9.96 173.52 313.56 Tm
( )Tj
EMC 
/P <</MCID 126 >>BDC 
0 -1.157 TD
( )Tj
EMC 
/P <</MCID 127 >>BDC 
-0.002 Tc 0.002 Tw 0 -1.157 TD
[(W)-33.9 (hi)15.2 (c)-8.1 (h )]TJ
0.0 1 3 Tw 3.072 0 Td
[(t)-13.2 (y)16.1 (pe of)-13.1 ( )]TJ
0.0 02 Tw 3.289 0 Td
[(f)-13.1 (ood)]TJ
0 Tc 0 Tw ( )Tj
-0.002 Tc 0.001 Tw 2.229 0 Td
[(di)-8.9 (d t)-1.1 (h)-12.2 (e )]TJ
0.0 02 Tw -8.59 -1.145 Td
[(f)-13.2 (ew)9.2 (es)-8 (t)]TJ
0 Tc 0 Tw 2.892 0 Td
( )Tj
-0.002 Tc 0.001 Tw 0.277 0 Td
[(p)-12.3 (eop)-12.3 (l)3.2 (e c)-8.1 (h)-12.2 (oos)-8 (e)-12.2 (?)]TJ
 
0 Tc 0 Tw 7.108 0 Td
( )Tj
EMC 
ET
/P <</MCID 128 >>BDC 
q
306.24 247.8 137. 3 9 9 98. 0 4 1 re
W n
BT
-0.002 Tc 0.001 Tw 9.96 -0 0 9.96 311. 4 336. 6 Tm
[(H)-2.9 (o)-12.3 (w)9.2 ( m)-24.4 (an)-12.3 (y)16.1 ( m)-24.4 (or)-6.3 (e peop)-12.2 (l)3.1 (e )]TJ
ET
Q
BT
-0.002 Tc 0.001 Tw 9.96 -0 0 9.96 311. 4 325.08 Tm
[(c)-8 (hos)-8 (e pi)-8.9 (z)-8 (z)4 (a t)-13.2 (han)-12.3 ( hot)-13.2 ( do)-12.3 (gs)]TJ
0 Tc 0 Tw 11.66 3 0 Td
(?)Tj
0.566 0 Td
( )Tj
ET
EMC 
BT
/P <</MCID 129 >>BDC 
9.9 6 -0 0 9.96 311. 4 313.56 Tm
( )Tj
EMC 
/P <</MCID 130 >>BDC 
0 -1.157 TD
( )Tj
EMC 
/P <</MCID 131 >>BDC 
0.0 1 Tc -0.011 Tw 0 -1.157 TD
[(H)9.1 (ow)21.2 ( m)-12.5 (a)11.8 (ny)28 ( )]TJ
-0.01 1 Tc 0.011 Tw [(f)-22.1 (e)-21.3 (we)-9.2 (r)]TJ
0 Tc 0 Tw 7.47 0 Td
( )Tj
-0.002 Tc 0.002 Tw 0.277 0 Td
[(pe)-12.3 (op)]TJ
0 Tc 0 Tw 2.241 0 Td
(l)Tj
-0.002 Tc 0.002 Tw 0.217 0 Td
(e )Tj
-10.205 -1.145 Td
[(c)-8 (hos)-8 (e )]TJ
0.0 0 1 Tw 2.952 0 Td
[(hot)-13.2 ( do)-12.3 (gs)-8 ( t)-1.1 (ha)-12.3 (n )]TJ
0.0 02 Tw -2.952 -1.157 Td
[(ham)-24.5 (bur)-6.3 (ger)]TJ
0 Tc 0 Tw 4.855 0 Td
(?)Tj
0.554 0 Td
( )Tj
EMC 
ET
/P <</MCID 132 >>BDC 
q
444. 12 247.8 136. 0 8 98.0 4 1 re
W n
BT
-0.002 Tc 0.001 Tw 9.96 -0 0 9.96 449.28 336. 6 Tm
[(H)-2.9 (o)-12.3 (w)9.2 ( m)-24.4 (an)-12.3 (y)16.1 ( m)-24.4 (or)-6.3 (e peop)-12.2 (l)3.1 (e )]TJ
ET
Q
BT
-0.002 Tc 0.002 Tw 9.96 -0 0 9.96 449.28 325.08 Tm
[(c)-8 (hos)-8 (e )]TJ
0.0 0 1 Tw 2.952 0 Td
[(hot)-13.2 ( do)-12.3 (gs)-8 ( t)-1.1 (ha)-12.3 (n pas)-8.1 (t)-13.1 (a)]TJ
0 Tc 0 Tw 8.831 0 Td
(?)Tj
0.554 0 Td
( )Tj
ET
EMC 
BT
/P <</MCID 133 >>BDC 
9.9 6 -0 0 9.96 449.28 313.56 Tm
( )Tj
EMC 
/P <</MCID 134 >>BDC 
0 -1.157 TD
( )Tj
EMC 
/P <</MCID 135 >>BDC 
0.0 1 Tc -0.011 Tw 0 -1.157 TD
[(H)9.1 (ow)21.2 ( m)-12.5 (a)11.8 (ny)28 ( )]TJ
-0.01 1 Tc 0.011 Tw [(f)-22.1 (e)-21.3 (we)-9.2 (r)]TJ
0 Tc 0 Tw 7.47 0 Td
( )Tj
-0.002 Tc 0.002 Tw 0.277 0 Td
[(pe)-12.3 (op)-12.3 (l)3.2 (e)]TJ
0 Tc 0 Tw le
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